

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



			General De	tails					
Parcel ID:	235-0030-05	180							
		Le	gal Descriptio	on Details					
Plat Name:	BALKAN								
Section	Т	ownship	F	ange	Lot	t	Block		
33		59		20	-		-		
Description:	Beginning at West line se and South lir marked by a point marked 678.70 feet t	a point marked parating the fort ne separating th n iron pin; thenc d by an iron pin;	by an iron pin, be ies in the NE1/4 o e forties in said NI the Southeasterly a thence Southerly d by an iron pipe;	ing the point of ir f Section 33, Tov E1/4, a distance t an angle of 75d at an angle of 10	ntersection of the vnship 59, Range of approximately leg49' for a distar 04deg11' from sai	at part described as North and South lin 20; thence North a 750.65 feet to a poi nce of approximately d line for a distance 01' for a distance of	e and East and long the North nt on said line y 275 feet to a of approximat		
			Taxpayer D	etails					
Taxpayer Name	JANCE SCO	TT R							
and Address:	6086 HWY 73	3							
CHISHOLM MN 55719-8016									
			Owner Det	ails					
Owner Name	JANCE SCO	TT R							
		Pay	able 2025 Tax	Summary					
	2025 - Ne	et Tax		\$2,263.00	1				
	2025 - Sp	pecial Assessme	ents		\$25.00	\$25.00			
	2025 -	Total Tax &	tal Tax & Special Assessments \$2,288.00						
			nt Tax Due (as)				
Du	e May 15		Due Octob		, 	Total Due			
	•						\$1,144.0		
2025 - 1st Half Tax	\$1,144.0	0 2025 - 2	nd Half Tax	\$1,14	4.00 2025 - 7	2025 - 1st Half Tax Due			
2025 - 1st Half Tax	Paid \$0.0	0 2025 - 2	2025 - 2nd Half Tax Paid		0.00 2025 - 2	2025 - 2nd Half Tax Due			
2025 - 1st Half Due	e \$1,144.0	0 2025 - 2	2025 - 2nd Half Due		\$1,144.00 2025 -		\$2,288.0		
			Parcel Det	ails					
Property Address:	6086 HWY 73	3, CHISHOLM N							
School District:	695								
Tax Increment Distri	ct: -								
Property/Homestead	ler: JANCE, SCC	DTT R							
		Assessme	ent Details (20	25 Payable 2	2026)				
Class Code (<mark>Legend</mark>)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201 1 - 0	wner Homestead .00% total)	\$37,900	\$423,100	\$461,000	\$0	\$0	-		
×	lon Homestead			\$22,700	\$0	\$0	-		
111 0 - N		•	\$22,700 \$0 \$60,600 \$423,100		* 0	\$0 \$0			



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/6/2025 5:20:38 PM

				Land D	etails					
Deed	ded Acres:	26.08								
Wate	erfront:	-								
Wate	er Front Feet:	0.00								
Wate	er Code & Desc:	W - DRILLED W	ELL							
Gas	Code & Desc:	-								
Sew	er Code & Desc:	S - ON-SITE SAI	NITARY SYSTI	EM						
Lot \	Width:	0.00								
Lot I	Depth:	0.00								
The https	dimensions shown are no :://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/f	urvey quality. A rmPlatStatPop	Additional lot Up.aspx. If t	t information can be here are any questi	e found at ions, please email Property]	ax@stlouiscountymn.gov.			
			Improvem	ent 1 Det	ails (RESIDEN	CE)				
I	mprovement Type	Year Built Main Fl		oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	HOUSE	0	74	8	1,496	U Quality / 0 Ft ²	2S - 2 STORY			
	Segment	Story	Width Length		Area	Foundat	tion			
	BAS	2	22	22 34 748		BASEME	BASEMENT			
	CN 0		5	5	25	FOUNDA	TION			
	CN	0	6	8	48	POST ON G	ROUND			
	CW	CW 0		22	176	POST ON G	ROUND			
	Bath Count	Bedroom Co	Bedroom Count Room			Fireplace Count	HVAC			
	1.0 BATH	-				0	CENTRAL, GAS			
			Improveme	nt 2 Deta	ils (DET GARA	(GE)				
1	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	, Basement Finish	Style Code & Desc.			
	GARAGE	1982	1982 1,00		1,008	-	DETACHED			
	Segment	gment Story Width Length Area		Foundat	Foundation					
	BAS	1	28	36	1,008	FLOATING	SLAB			
			Improver	nent 3 De	etails (42X72 Pl	B)				
	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	POLE BUILDING	1982	3,02		3,024		-			
Segment		Story	Width	Length	,	Foundat	tion			
	BAS		42	72	3,024	POST ON G	ROUND			
			Improver	nent 4 De	tails (39X72 Pl	B)				
1	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	, Basement Finish	Style Code & Desc.			
	POLE BUILDING	0	1,30		1,368	-	-			
	Segment	Story	Width	Length		Foundat	tion			
	BAS	0	38	36	1,368	POST ON G				
	LT	0	38	36	1,368	POST ON G	ROUND			
			Improve	ment 5 De	etails (10X20S	Т)				
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.										
	TORAGE BUILDING	0	20		200	-	-			
1 0										
	Segment	Story	Width	Length	Area	Foundat	lion			





St. Louis County, Minnesota

Date of Report: 5/6/2025 5:20:38 PM

		Improver	nent 6 Details	s (32x40 hs	se)					
Improvement Type Year Built		Main Flo	oor Ft ² Gro	Gross Area Ft ² Ba		asement Finish		Style Co	ode & Desc.	
HOUSE 2024		1,2	1,280		1,280		- 1S - 1 STORY			
Segmer	Segment Story		Length Area		Foundation					
BAS 0		32	32 40		,280					
Bath Count	Bedroo	m Count	ount Room Count		Fireplace Count			HV	-	
1.0 BATH		-	-		0	0 C&AC&E			PROPANE	
		Improver	nent 7 Detail	s (AG 32x3	52)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gro	ss Area Ft ²	Base	ment Finish	S	Style Co	ode & Desc.	
GARAGE	2024		1,024 1,024						ACHED	
Segment Story			Length Area			Foundation				
BAS	0	32	32	1,024		-				
	:	Sales Reported	to the St. Lo	uis County	/ Auditor					
Sal	le Date		Purchase Prie	ce		CRV Number				
03	3/2022	\$130,000 (This is part of a m	ulti parcel sal	e.)	250584				
		A	ssessment H	istory						
	Class	1	Dista	-	- 1 - 1	Def		ef		
Year	Code (Legend)	Land EMV	Bldg EMV		otal EMV	Land EMV		dg MV	Net Tax Capacity	
	201	\$37,900	\$172,100	\$21	0,000	\$0	\$	60	-	
2024 Payable 2025	111	\$22,700	\$0	\$2	2,700	\$0	9	60	-	
-	Total	\$60,600	\$172,100	\$23	32,700	\$0	\$	0	2,051.00	
	201	\$37,900	\$157,600	\$19	95,500	\$0	\$	0	-	
2023 Payable 2024	111	\$22,700	\$0	\$2	2,700	\$0	\$	60	-	
-	Total	\$60,600	\$157,600	\$21	8,200	\$0	\$	0	1,986.00	
	201	\$33,800	\$128,500	\$16	62,300	\$0	\$	60	-	
2022 Payable 2023	111	\$18,900	\$0	\$1	8,900	\$0	\$	60	-	
	Total	\$52,700	\$128,500	\$18	31,200	\$0	\$	60	1,586.00	
	201	\$31,000	\$120,000	\$15	51,000	\$0	\$	0	-	
2021 Payable 2022	111	\$16,300	\$0	\$1	6,300	\$0	ę	60	-	
ajazio	Total	\$47,300	\$120,000	\$16	67,300	\$0	\$	60	163.00	
		٦	Fax Detail His	story						
			Total Tax &							
Tax Year			Special Special Special Special				Taxable Building		Taxable MV	
2024	\$2,163.00	\$25.00	\$2,188.00	\$5	6,792	\$141,763		\$198,555		
2023	\$2,115.00	\$25.00	\$2,140.00	\$4	7,987	7 \$110,580		\$158,567		
2022	\$67.00	\$85.00	\$152.00	\$1	6,300	\$0		\$16,300		



PROPERTY DETAILS REPORT





Date of Report: 5/6/2025 5:20:38 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.